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ANSWER KEYS

PART ONE : GRAPH READING

A.
Evolution of wind energy capacity and market in France (MW, MW/year) 

graph

1- Comment on the graph above. Fill in the blanks in the following exercise, using verbs, adverbs or adjectives as indicated in italics. Do not use the same word twice and do not use verb increase as it is already used in he text! Be sure to put the verbs in the right tense.

 In France, the production of wind energy has risen / has gone up / has grown (verb) by almost 100% since 1996.

It remained ( verb) stable for the two first years then it increased slightly / a little (adverb) between 1998 and 1999.

From then on, the production never stopped increasing, reaching (verb) 757 MW in 2005.

In the year 2005, there was a sharp / dramatic / sudden (adjective) increase; in fact the production soared / (sky)rocketed / jumped (verb) with 366 MW installed , representing a 148% increase compared to the 147MW installed in 2004.

B.
 Breakdown of the 366 MW installed in 2005 by wind turbine manufacturers

graph

Wind turbine manufacturers market shares in 2005

2- Ranking wind turbine makers on the French market: 

Read the information and complete the  sentences with the comparative or superlative form of the adjectives in brackets.

a- The French market is one of the most attractive markets in Europe because it has enormous potential. (attractive)
b- The wind energy market is controlled by German, Danish , Spanish and US companies;  

      they hold the highest percentage  of market shares. (high)
c- With 15% of the market, Enercon is twice as big as  Vergnet, the only French firm who plays a role on the market . (big)
d-
The leading firm is Repower, a German corporation, followed by the US company General Electric. So GE is the second largest wind turbine company  in France. (large)

PART TWO: WRITING 

(see TD booklet LEO3 autumn 2006  for sample report)

